Physics 2414
Midterm 2

Instructions: Please sit in the indicated seat. Write your name, student ID, exam version and
discussion section on your answer sheet and put all of your answers on the answer sheet. Hand
in the answer sheet when you are done.

Area of Sphere= 472 YF, = ma,
g=9.8 m/s? Foot =ma
Volume of Sphere=37r? 4, = 2

f=x
v= —%T = 2mrf
Ty = % T? = constant x r3
— . AX
¥ = lima¢—0x;
— AT
gy = A_’:
S AT
a = lima¢—0Ry
AVyp = Uy — Vog = gt
— Yoz tva
Vap g = Loztle
Ax =2 —x, = Vgt + %amt2

2 _ .2 _
vy — U5, = 20, Az

4 Kinematic equations :

1) v=uv,+at

2) & =z + 5 (v + Vo)t
3) x:xo+vot+%at2
)v

4) v? = v2 + 2a(r — x,)

Kinematic equations for an object moving
in two dimensions with constant acceleration
along the y-axis and ¢,=0.

Ve = Vox
T — Ty = Voypl
Vy = Voy + Ayl
Ay = Uav,yt
_ 1
Vav,y = 5 (Voy + vy)
_ 1 2
Y — Yo = Voyt + 504t

2.2
vy — U5y = 2a,Ay

: ____opposite
sinf = hypotenuse
___adjacent
cost = hypotenuse
__ opposite
tanf = adjacent
_ Gmim
F = Gmyms
fs S ,USFN
fe = peFn
=kx

YF, = ma,



